
[image: image1.png]



INSTRUCTIONS

Show all calculations to obtain maximum marks.

Duration:
20 minutes

Aid:  

Non-programmable calculator

MARKS:

Question 1:   _______

Question 2:  _______

Total:   _______

MGT 220 – FINANCIAL ACCOUNTING II

THE QUALITY OF EARNINGS

QUIZ #4
MARCH 24, 2004

Name: __________________________________

Student Number: _________________________

 QUESTION 1.  (13 Marks)
The trial balance before adjustment of Pratt Company reports the following balances:



     Dr.

      Cr.



Accounts receivable
$100,000


Allowance for doubtful accounts

$    2,500


Sales (all on credit)

650,000


Sales returns and allowances
40,000

Instructions

(a)
Prepare the entries for estimated bad debts assuming that doubtful accounts are estimated to be (1) seven percent of gross accounts receivable and (2) one percent of net sales.

(b)
Assume that all the information above is the same, except that the Allowance for Doubtful Accounts has a debit balance of $2,500 instead of a credit balance.  How will this difference affect the journal entries in part (a)?

Solution
(a)
(1)
Bad Debts Expense 

4,500



Allowance for Doubtful Accounts 


4,500


Gross receivables
$100,000


Rate
         7%


Total allowance needed
7,000


Present allowance
    (2,500)


Bad debts expense
$    4,500

(2)
Bad Debts Expense 

6,100




Allowance for Doubtful Accounts 


6,100


Sales
$650,000


Sales returns and allowances
   (40,000)


Net sales
610,000


Rate
          1%


Bad debts expense
$    6,100
(b)
The percentage of receivables approach would be affected as follows:


Gross receivables
$100,000


Rate
          7%

Total allowance needed
7,000


Present allowance
      2,500

Additional amount required
$    9,500
The journal entry is therefore as follows:


Bad Debts Expense 

9,500



Allowance for Doubtful Accounts 


9,500

The entry would not change under the percentage of sales method.

QUESTION 2.  (5 Marks)

Slone Company sells TVs. The perpetual inventory was stated as $30,500 on the books at December 31, 2002.  At the close of the year, a new approach for compiling inventory was used and apparently a satisfactory cut-off for preparation of financial statements was not made.  Some events that occurred are as follows.

1.
TVs shipped to a customer January 2, 2003, costing $5,000 were included in inventory at December 31, 2002.  The sale was recorded in 2003.

2.
TVs costing $15,000 received December 30, 2002, were recorded as received on January 2, 2003.

3.
TVs received during 2002 costing $4,600 were recorded twice in the inventory account.

4.
TVs shipped to a customer December 28, 2002, f.o.b. shipping point, which cost $12,000, were not received by the customer until January, 2003.  The TVs were included in the ending inventory.

5.
TVs on hand that cost $6,100 were never recorded on the books.

Instructions
Calculate the correct inventory at December 31, 2002.

Solution
Inventory per books

$30,500
Add:
Shipment received 12/30/02
$15,000


TVs on hand
    6,100
  21,100




51,600

Deduct:
TVs recorded twice
4,600



TVs shipped 12/28/02
  12,000
  16,600
Correct inventory 12/31/02

$35,000
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